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= 811,700
o 7,466,562
HIIZXCIANE 28 € &5 7,204,112 4,261,856 2,942,25%
= 600,000
s 6,604,112
HIIE XMclAlE 22t 5,320,112 4,261,8% 1,067,256
201 et 3| 183,472 202,160 18,688
01 At2t2l] 114,222 127,410 A13,188
DX (OIS U WEHEE dud) &
g=5(5t8, s%)
300,0003 x2£ #37 & +23] 44,400
oc2MY HUY=(5tx,855)
300,000 x2& x5 & »23] 6,000
cetZllstd ¥& S 228 7Y
35,0002 x105+ 122 4,200
oEd = XIot+-BAS 2B ==
= 230,000 x35+43] 2,760
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SN S8
M Wl E a2
Sl HIIZHZIAE 29 L = (Shol: % 2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
SRR 254+ 2N o=
1,000,000& 128/ 12,000
CTESE HEg = 2
14,0002 5004+ 122 8,400
olHEEE HEE 0t 7Y
5002 «50001* 122 3,000
otZAC|HH SUFHIANAY =5
155,000& * 12 1,860
oty 22ES 7
500,000 62| 3,000
ogtZac|dE d==J| 2|
50,0003 x3CH =122 1,800
ofgZae|dH Hid 2l
20,0002 +6CH* 12 1,440
oftFae|dy Ty EY 2
200,000 43 800
otZaAc|dEH L2 EE=
5,000& x500H 2,500
oEZACIHH AdYS U=
11,0003 * 122 132
oFHISAY FUXAIIS del?d=l 2
fes 70,0002 x3H+33] 630
oYY FeUXAI IS FUXEH =2
g 70,0003 x2EH 32 420
TR (BFIFHY L WSS HER) 3
Al 9,0003 %37 »60! 19,980
o2XE HA UDEX IA|
9,000&x5&~20 900
2 35244l 69,250 74,750 25,500
oEZACIHH =23
800,000& 122 9,600
oY Jalx Hags
150,000 *37H A+ 13] 450
ogtdac|dy &JIRs
100,000& «12& 1,200
o3& MESHEE MIIR=
2,000,000& ~12& 24,000
oMdUIEH AldE FA
1,500,000 «6 9,000
cMgsdEAlg JASH =
1,000,0002 %52 5,000
oEtZAC|HH YR AU Eo2HEE
25,0002 x50 « 12 15,000
oESMESAIE JIAEH 423 28
1,000,000 #52] 5,000
202 04| 8,140 14,920 26,780
01 2K 8,140 14,920 26,780
o2 MI| £H Y2 EX
10,0002 58 150! 7,500
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2A:

=]

X-I;_(H: mljlc' al x—l_)lk_ |»E’|
el BDISHRIAY 29 o & (e &8l
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oSRA(SH0ISE % WEEE HER) O
af 20,0003 321 640
206 M=l 19,500 19,500
01 M=4l 19,500 19,500
oMU E YHANS 10,500
=58 35,0002 %2 £ x1503] 10,500
SMYDIEH HMes datd Sa2Ls
10,0003 #500kg 5,000
SRV E) 2,0002 %5004 1,000
CMYIIAMNS T OHFH 2R
10,0002 +20 £ *50H 1,000
SMYDIEHE SEM &
2,000, 0002 2,000
207 1P| 15,000 15,000
NEEEET 15,000 15,000
MBS +T2Y FISHEA ATNE
15,000,000 15,000
307 @120l & 3,826,000 3,306,000 520,000
05 git?(& = 3,826,000 3,306,000 520,000
S MBI AZAIL DI2FIE
2,820,000,000& 2,820,000
oSASMY D] ULRAE
1,006,000,000& 1,006,000
308 AXIHSOIA 96,000 96,000
14 IR 8= 96,000 96,000
cHJIEXE FE€= 96,000
- 2 11,000&+8,000& 88,000
-0 & 16,0002 *500& 8,000
401 Al HIZL 201 1,181,000 353,000 828,000
01 A&t 1,181,000 353,000 828,000
oxEA B2 F8 U B4
5,000,000& 22 10,000
cHDIZ2 Mal(My, B2+ )
250,000 x240 =43 240,000
oH=M Xl 30,000 *300& 9,000
cHHIE: Xel 40,000 *300& 12,000
ctFAC|HH AldE FA € 2=
30,000,000 30,000
ogtdac|dH FH =&Y
20,000,000 20,000
oMHEEZ Xl 89 400,000,000 400,000
ot AC|HH BES XMIAE E=SA
300,000,000 300,000
cEZACIMH HEES HIIIEHAIE £X
SAt 160,000,000 160,000
AZAE ARER A 1,186,000 0 1,186,000
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2A:

2F

M HolE & a2
el HYISXMEAE 229 & =23 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 300,000
s 886,000
401 Al HIZL 01| 1,186,000 0 1,186,000
= 300,000
= 886,000
01 Al&H| 1,184,000 0 1,184,000
cWEHIIZ AZAE MAEX
1, 184,000,000 1,184,000
= 299,4%
s 884,506
03 Al 20HHI 2,000 0 2,000
cHEHIIE AZAE MREX 2R FA
2,000,000& 2,000
= 506
= 1,494
OHEIAIE =80|SEHIAY 689,000 0 689,000
= 300,000
o 389,000
401 Al HIZ S OHbI 689,000 0 689,000
= 300,000
o 389,000
01 Al&HI 687,700 0 687,700
ox=2d MEAIE 4l € =4
687,700,000 687,700
= 299,434
= 388,266
03 A2 THYI 1,300 0 1,300
oz=gtd IHEAIE Ebl & ZEME H2 =
& 1,300, 0002 1,300
2 566
e 734
Zlatd oz 1,074,150 1,170,180 296,030
= 211,700
s 862,450
aze| Lot 205,750 294,180 /88,430
201 er23 | 71,670 66,180 5,490
01 At2teltl 51,670 46,180 5,490
cUEHII=2 S 2B M
200&+10,0000H 2,000
o=HS)I| 28 SdIHe S HH
53,000 »100H*42] 2,120
oMy ZE E2E MH
2003 =8, 5000H 1,700
oMl SYHSI| s 225 LIS
150,000& x4 600

_388_




M 23
M HolE & a2
el e A2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CHAR HUTT A2F 1¢
42,5002 x105+ 102 4,250
oIglE & 200,000 *1CH*53] 1,000
SHAME X7 AD2E 7Y
170,000& +6E 1,020
SHEBE 48 7
250,000 *50H 12,500
oMYD|SEMN SF AE i 2 ZH]
100,000 x200H*12 2,000
CHEEE 201540 KX/
250,000 «6LH* 122 18,000
oXtAEE Y2 X A
9,000 x4 » 180! 6,480
02 S3=gl 20,000 20,000 0
oMdJl S/-EI| ZAIDtHe RAl2el
600, 0003 *20H 12,000
oMEE sUI0tY =Xl2c
500,000 *169H A 8,000
202 04l 6,080 6,080
01 SLHoIH 6,080 6,080
onEs 92 =7
20,0002 x4 »76 6,080
206 MH=H| 128,000 128,000
01 M=4l 128,000 128,000
SEM S5 1102 +1,100,0000H 121,000
oSAZMYI| +2{B)]
70,0002 100K 7,000
daxtg 728 & =Al - 22 302,400 366,000 263,600
201 er23 | 302,400 216,000 86,400
2 5234l 302,400 216,000 86,400
oHAXEY =FHI 13,500,000& 122 162,000
oFAIE A2
5,500,000& «12& 66,000
oL HEAX K2
2,200,000& ~12& 26,400
oQUEIY S I &3
5,000,000 ~6CH 30,000
CHATY Y B5A YUY U A A
N 6,000,000 *3CH 18,000
=EUHZEES 210,000 209,000 1,000
301 22N = 8,000 8,000 0
11 dALEEIXIE S 8,000 8,000 0
odsHll= d8+H 22U 8,000
-SENE K& 10,0002 *160CH*23] 3,200
-HAA S48 NE
8,000 %3002 *23] 4,800
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SN S8
M HolE & a2
el e A2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 202,000 201,000 1,000
01 Al&H| 202,000 201,000 1,000
oA HII= X
250,000 *200 =43 200,000
SS9 4312 Xzl
2,000,000 *1E+13] 2,000
HElY =H2a= K& 45,000 45,000 0
= 8,000
= 37,000
301 EtE NS 45,000 45,000 0
= 8,000
= 37,000
14 IIEt2 83 45,000 45,000 0
SHHIE 4 &3
100& *400,000kg 40,000
= 8,000
2 3,000
oo £ X2
1002%50,000ke 5,000
ot 2 otMED] HStAY 246,000 246,000 0
= 172,200
o 73,800
101 @124H| 156,758 168,547 A11,789
= 109,730
o 47,028
04 JIZtN2Z2 XS+ 156,758 168,547 A11,789
SBHESRMYI| 40 oIy
10,0302 *5A| 2++22E + 128 141,223
= 98,856
[Ea 42,367
o428 = 141,223,000 *11% 16,535
= 10,874
= 4,661
206 MH=H| 5,242 6,053 A811
= 3,670
s 1,572
01 M=8l 5,242 6,053 AB811
SBMSRMII| LAY ADE(0IH, &
2, B ) 5,242,000 12} 5,242
= 3,670
= 1,572
401 Al HIZ 2018 84,000 71,400 12,600
= 58,800
Ea 25,200
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=E
HIIZ2 & a2
e Azl 2 HA)
SA - BH - () - NSAY - BAS ofl v A 2
01 Al&Hl 84,000 71,400 12,600
oGt S M| HMel
350,000 x120 = +23 84,000
= 58,800
i 25,200
SSEOHY &5 KA 5,000 0 5,000
= 1,500
= 3,500
401 Al HIZL S 0HY| 5,000 0 5,000
= 1,500
o 3,500
01 AIEHI 5,000 0 5,000
cUSIIE BERGE %5 N AR
5,000,000& 5,000
= 1,500
i 3,500
=g E8 XE A 60,000 0 60,000
= 30,000
= 30,000
201 B2 AL| 60,000 0 60,000
= 30,000
= 30,000
01 ArR222lt| 60,000 0 60,000
o3l &I MAHE 249 60,000,000 60,000
= 30,000
= 30,000
Y 2AAY(&E D) 1,848,559 1,834,819 13,740
olE2H| 1,824,039 1,810,239 13,800
ol 23| 1,824,039 1,810,239 13,800
101 @124t 1,824,039 1,810,239 13,800
01 2=+ 57,639 46,861 10,778
SN ERSEE eSS
11,6022 «23ZF *18A| 2+ + 12 57,639
03 SR (RIHL)2Z2XE 1,766,400 1,763,378 3,022
oS 2,038,3402x31H 123 758,263
SR 399,471
|2 76,084, 5403 *50%+*4 3 152,170
XM=& et 76,084, 5403 *50%+*53] 190,212
-2 920,780& *x31H*23] 57,089
oYMt 93,000
SRy 90,0002 *31H+ 123 33,480
A ZA+Y 70,0002 318+ 12& 26,040
-EY 33,480
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SN BHD
M HZYRAZHI(2EM)
el QIEE2E
S A - BRI - NRA - BES of e e
BN, 40,0002 «20H 122 9,600
=\, 20,0003 x19~ 122 4,560
- R XHA 30,0002« 12« 122 4,320
- A 70,0002 x10E* 122 8,400
- AU RHA 110,000 x5 * 12 6,600
o=c|Z= Y| 150,822
- A G A 160,000& <31+ 122 59,520
-SE S0l 76,084, 5403 »60%*22] 91,302
oAe2fg
17,6102 <312 %20 Al 2Hx 1500+ 122 196,528
osdIRsd
94,0003 3112 % 150%* 122 52,452
SAuPNEE=Eo WIS
94,0002 *31H~ 16 46,624
oHarH 170,000 x31&«12& 63,240
oJ|Et=g 6,000
-SEag 100,0002x1&~12& 1,200
-2d=g 50,0002 «8& =122 4,800
Jl=2&d| 24,520 24,580
Jl=&H| 24,520 24,580
201 2= 17,680 17,680
01 AtR2t2lt] 17,680 17,680
b2 A= 5,160
-S2Al 20,0002 +9%x 122 2,160
NN 10,0002 x255 x 122 3,000
oIglE & 250,000 x5 5+53] 6,250
oMA=AD A28 78 ¥ =4 22|
1,500,000 *1CH 1,500
S U= 25,0003 +232t A6 3,450
o&aJ| ¥ BIIEED| 2l
55,0003 =20 =128 1,320
203 =4l 6,840 6,900
04 FAE2EERFAH 6.840 6,900
=300l =1t
(400,000 +(5,0002 x4 X ) )« 122 6.840
Hees(Ez) 130,000 130,000 0
LI HHKIE 130,000 130,000 0
R HHXIE 130,000 130,000 0
RJIsdEs 130,000 130,000 0
0 JI=sdESs 130,000 130,000 0
oHIISX2AIE FEXS F2UXA JI=
dE= 130,000,000 130,000
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